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, X =2 is not continuous at x = 2 because...

4. The function G(x)=
s 600 = -1 3x=1, %<2 ARG = 837 -1 o @m =5(2) =1

/ ((2) is not defined A lim G(x)does not exist e) im G(x)= G(2) ==

x=2 R
D. Only reasons B and C E. All of the above reasons.
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7. If f(x)=3x% —5x, then find lim
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9. The func‘tign9 f(x)= i; :;‘i _i has a V'eﬁrﬁti;al asymptote at x = -5 because.. .{){ (e %34 (23]
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10. Consider the function H(x) = { . Which of the following statements is/are
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Consider the function s(x) = to answer the following questions.
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a. Find lim A(x). Show your numerical analysis that leads to your answer and explain what

x—>1*
this result implies graphically about A(x) at x = 1.
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C. Expla?ﬂ why the Intermediaie Value Theorem guarantees a value of ¢ on the interval [1.5, 2.5}5 Ef 02%3
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